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3XML�V\XNXU�PDKDVLVZD�SDQMDWNDQ�NHSDGD�NHKDGLUDW�$OODK�6:7�NDUHQD�EHUNDW�UDKPDW�

GDQ� NDUXQLD�1\D� PDKDVLVZD� GDSDW� PHQ\HOHVDLNDQ� ODSRUDQ� NHUMD� WXJDV� DNKLU� \DQJ�

EHUMXGXO�́ 3HQJRODKDQ�/LPEDK�,QGXVWUL�$ODV�.DNL�6SRQV�(9$��(WK\OHQH�9LQ\O�$FHWDWH��

PHQMDGL�$SOLNDVL�SDGD�3URGXN�$NVHVRULV�)HV\HQ´��3HQXOLVDQ�ODSRUDQ�LQL�PHUXSDNDQ�

VDODK� VDWX� EDJLDQ� GDUL� V\DUDW� NHOXOXVDQ� SURJUDP� VDUMDQD� )DNXOWDV� ,QGXVWUL� .UHDWLI�

7HONRP�8QLYHUVLW\�-XUXVDQ�.UL\D�7HNVWLO�GDQ�0RGH�

0DKDVLVZD� PHQJXFDSNDQ� WHULPDNDVLK� NHSDGD� SLKDN� \DQJ� WHODK� PHPEDQWX� GDQ�

PHQGXNXQJ� PDKDVLVZD� VHODPD� EHUMDODQQ\D� SURVHV� ELPELQJDQ� GDQ� SHQ\HOHVDLDQ�

ODSRUDQ�WXJDV�DNKLU��NKXVXVQ\D�NHSDGD��

�� %DSDN�)DMDU�&LSWDQGL��VHODNX�GRVHQ�SHPELPELQJ�PDWD�NXOLDK�7XJDV�$NKLU

�� %DSDN� )DMDU� 6DGLND� VHODNX� SHPELPELQJ� GLODSDQJDQ� GDQ� VHODNX� 0DQDMHU� 'HVDLQ�

3URGXNVL�0.6¶�6KRHV�

�� .HOXDUJD�GDQ�WHPDQ�WHPDQ�\DQJ�WHODK�PHPEHULNDQ�VHPDQJDW�GDQ�GXNXQJDQ�VHKLQJJD�

PDKDVLVZD�GDSDW�PHQ\HOHVDLNDQ�ODSRUDQ�WXJDV�DNKLU�WHSDW�ZDNWX�

'DODP� SHQXOLVDQ� ODSRUDQ� LQL�� SHQXOLV� PHQ\DGDUL� PDVLK� EDQ\DN� NHVDODKDQ� GDQ�

NHNXUDQJDQ�GDODP� ODSRUDQ� LQL��2OHK�NDUHQD� LWX�� SHQXOLV�PHPRKRQ�PDDI� DWDV� VHJDOD�

NHNXUDQJDQ�GDQ�NHVDODKDQ�\DQJ�WHUGDSDW�GDODP�ODSRUDQ�LQL��VHUWD�PHQJKDUDSNDQ�NULWLN�

GDQ�VDUDQ�GDUL�SDUD�SHPEDFD��3HQXOLV�EHUKDUDS�DJDU�ODSRUDQ�LQL�GDSDW�EHUPDQIDDW�VHUWD�

PHQDPEDK�ZDZDVDQ�EDJL�SHPEDFD�GDQ�SHQXOLV�

%DQGXQJ�� $JXVWXV�����

3HQXOLV


